Co-ordinates in all four quadrants
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1) Plot the following points on the cartesian grid and label n
them with the letters given. -
. B
a)A(8,5) e) E(-4,7) E .
N C
b) B (5,8) f) F (-8,-2) ] o A
c) C(2,6) 8) G (7,-7) 4 .
d) D (7,0) h) H (0,-5) M .
: : : L 10 D
2) Write the co-ordinates of the following S E 5 5 555 }
points from the diagram: F :
L p—— K
"n(5,3) v (-8,2) i
o (5,9) "N i(0,6) :
0K (4,-8) 90 (0,0 | f
L p)P
no40) P 6,9)
3) Using the co-ordinate grid provided, find the B }: C
following co-ordinates to make the statements below . S
true i
a) ABCD is a parallelogram. A D 6 R T
Complete the parallelogram and (-1 , 6)
write down the coordinates of D. eeeeesmeseeseer s snesesesaens *
b) QRST is a kite. ?
Complete the kite and (8, 6) - Q
write down the coordinatesof T ‘e, PR TP I
W, Z .
c) WXYZ is a rectangle. ]
Complete the rectangle (-2, -2) M K N
and write down the coordinates of Z. ... PoX Yl
d) KLMN is a square. ) 3 L M
Complete the square (6, -4)
and write down the coordinates of N. &, y
\ t J
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:=| Exam style question: 5
ABCD is a square. Complete the square A
X3
and write down the coordinates of D ) X B
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